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1,500,000& 1,500
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01 AFR 22| 3,600 3,700 A 100
OTHEHTHOH CH 28 Y Bh=~=ZH 300,000& «12& 3,600
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SZ2AE 2tel 15,149,789 9,850, 866 5,298,923
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OMBERALE 242 A
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N2S 37,000,000& x12& 444,000
2ots 16,000,000 *12& 192,000
-HES & JIEAIE 20,000,000 <128 240,000
—ste3 8,400
TYU=2 HANSRZ
200,000& <128 2,400
RS, BoS K24 SM22
10,0003 x50 =+ 12 6,000
—OHEEY 242 10,100
LIRS B2EE MIQNEY 442
50,000& *304 1,500
Notxte MItMEE =8
600,000& «12& 7,200
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OJnzs B 2 52 700,000& 400 280,000
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OES A& o X 22
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SRR 883,570 582,288 301,282
stag e 883,570 582,288 301,282
ote HESl o 1,800 1,800 0
202 Oft| 1,800 1,800 0
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OBt EALE RXES 200,000% *1,500m 300,000
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100,000,000 %0.90% 900
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—gYaRLy
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— i X==g 6,920 «BAl 2t 1H #202 1,108
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20,0002 *375A1 2t 122 90,000
OZDIMAIME ALB2ITSAT A6I2A
20,0002 *2 %2492 9,960
401 AEHIYLS T 6,000 4,000 2,000
01 Al4dH| 6,000 4,000 2,000
OSTHZ Zata X 5,000,0008*14] 5,000
OFQIXXIME &5 DA 1,000,008 *14] 1,000
405 XAHE S 18,100 29,400 A11,300
01 HAUSEFSY 13,100 24,400 A11,300
OS2 (CH) 900, 0002 *2CH 1,800
OB (A7) 4,000,00024 *1CH 4,000
O-AALOIZ (&) 800,0002 x2CH 1,600
OE2{ 0FALKID| 7000002 *1CH 700
OZHE gz 7)  300,0008 %67 1,800
OEHZ gz ) 60,0002 %360 2,160
O+2ME AL 200,002 *27H 400
O%YME © 80,0002 *87H 640
02 TR 5,000 5,000 0
O AR (4! 5,000,002 5,000
OIS 2 19,700 19,200 500
201 Ygreg| 19,200 19,200 0




SA AB3S
M. AB3S FUNXMEH 2%
ol FOIRIXIME 25t (eel: &
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 AFR22/H| 8,400 8,400 0
OBIBHYLEX +2H  700,0008 128 8,400
02 ZZeg| 10,800 10,800 0
OLAHE 012 700,0002 12 8,400
OJIEt B3 200,0002 12 2,400
405 XH&HF S 500 0 500
01 Xtard 223 S| 500 0 500
OFTOIDIXI A S LI (AF)  500,0008 *1CH 500
S8y g1 56,430 56,430 0
301 LetE a3 56,430 56,430 0
05 -2 - PHESSIAI 56,430 56,430 0
OsZ+g 52,480
—g 200,000 * 16 * 143 44,800
—slol@a Ly 20,0002+ 16 +25] + 128 7,680
oerz sy 25,0002 +79% +23] 3,950
WRBB22LSD] 8,400 3,000 5,400
301 LerEAS 8,400 3,000 5,400
10 A2 &S 8,400 3,000 5,400
OMBEBSLLIS)| HEAFN S4H|
7.0002! ¥50% x23| 12 8,400
= HA2Y 124,302 94,216 30,086
HAr2 A 93,302 77.816 15,486
201 Y2 ] 91,892 74,616 17,276
01 AFR22/HI 12,000 0 12,000
OAFTZ 2 AIFEHIO B8 12,000,000 12,000
02 ZZ2H| 79,892 74,616 5,276
OZZ222 2 HMA 37,800
—®I23 2,500,0002! 128 30,000
—&.5t+2R3 400,0002 12 4,800
—JIEt BBR2 ¥ MM 250,000 «12% 3,000
O Z | 8,400
—EAAR3 700,000 12 8,400
OAEZHIRX I 22,992
—H AR 5000002 12 6,000
— RIS+ 2 200,0002 12 2,400
—TJ|ord 22| 20,0008 * 128 2,640
- SIS NB2I 231,0008 %128 2,772
— A uHOLM 22| H| 165,0002! » 128 1,980
- EEX-EX 1,000,0002! « 18l 1,000




fAM: ME3S
M ME3s FUNXME 29
el S ARG (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—XNotM =L =SHIHL
350,000& 24 *23] 1,400
—JIEFAIE EHI S X 400,000 123 4,800
Ooxg & =X 5,400
— 22X Xl 300,000& «12& 3,600
—O0I&EXt /Xl 100,000& x12& 1,200
— 22X L 0IEX 2= 600,000 13 600
OEMBI X R Xl 22| H] 500,000& 500
OFEA2ZE Lot=2H| 400,000 123 4,800
405 XtobE SHI 1,410 400 1,010
01 XYL S SFSHI 1,410 400 1,010
ORIgE JAEH(dR) 150,000& *3H 450
OAE oXtH(AlF) 80,000& » 1204 960
FAEE e 31,000 16,400 14,600
401 A EHIL 201 31,000 16,400 14,600
01 Al&HI 31,000 16,400 14,600
O&AUW =01H B2 4,000,000& 4,000
OB MU ZHEA &X 5,000, 000& 5,000
OFAZE AZEXE AX&C0 4X
13,500,000& 13,500
OZFOMAHEJAL B A 5,000, 000& 5,000
O&Z I ccTv &X 500,000& 500
OXot=X&UW USLX HX X
3,000, 000& 3,000
o= 20,000 30,000 A 10,000
=0 EHALE FHl 20,000 30,000 A 10,000
401 A EHIL 204 20,000 30,000 210,000
01 Al&HI 20,000 30,000 210,000
O=0I=R Al 20,000,000& 20,000
HY2A P (MEIS) 75,446 76,390 A944
QA2 27,646 39,190 A11,544
eI A 27,646 39,190 A11,544
101 el 24| 27,646 27,390 256
03 RIIHAZZXNE = 27,646 27,390 256
Os0dH FAt22/& 27,646
—Jlzs 836,680& «12& 10,041
—J|Z=g 836, 680& *400% 3,347
—JH A X &Y 836, 680& *200% 1,674
—HE S0t 836,680 *150% 1,256
—nssa| 140,000& 128 1,680




SN AE3S
HE: #H2SAY (MNES)
el o2yl (el &2
RA B SA(BH) - NRAY - B 01 e HRE2
— g Al 80,0002 * 122 960
—PlyrY 30,0002 122 360
—tE4y 100,000 * 122 1,200
—ZDDLAG  4,4702 1.5+ 15A 2+ 122 1,207
—pYaRsy
4,470%1 %1 5H) 58] 2 x22 #1221 1,268
—o Ry 4,470%+8AI 2H422 787
=PI
(83668021 /243) +BA| 2H+65% (151 %9 +161 3,277
*3)
R CEL 27,079,24021%21/1,000 569
Jl= 2| 47,800 37,200 10,600
2 47,800 37,200 10,600
201 Yer2 ) 18,000 19,200 A1,200
01 AR eIt 18,000 19,200 A1,200
OR A2l 80,0002 %102 * 122 9,600
BIEE=E 70,0002 %10 * 122 8,400
202 01t 18,000 18,000 0
02 =% oft| 18,000 18,000 0
SERIVE] 50,0002 ¥102 » 122 18,000
203 PR =Y 10,000 0 10,000
01 Jl2ASYALREY| 6,600 0 6,600
OJlESYAR=Y) 6,600,0002! 6,600
02 FRAIIMARETY] 400 0 400
OBAIIYLETY| 40,0009 %102 400
M RASYARETY 3,000 0 3,000
ORASgLR=Y) 250, 00021 * 122 3,000
204 HR4LHAH) 1,800 0 1,800
NIEEEEERSEN 1,800 0 1,800
OSH NMIYLLHAY| 150,008 122 1,800




SH: HEIS
HE: IS FUKNINH 29
el ZOIXIME A5 (Sl #)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Aol Ofl At ot Hws2
EHE 1S 420,050 426,434 £6,384
EHEIS FOXXIME 2 349,047 348,370 1,577
ZOIREIME B 251,567 259,422 AT7,855
FOTRME 2 127,860 139, 100 A11,240
201 LByl 28,200 28,200 0
01 Attt 16,200 16,200 0
OF AR MEH 2| 600, 00021+ 122 7,200
OFANASAVE S| FH2L
30,0002 %252 « 128 9,000
03 A2 Y| 2,000 2,000 0
OFUNXIME B 2H3 5,000,0002! 5,000
OFUNAME DF - A3 U HAHHBE2
0y 2y 7,000,000%! 7,000
203 AR =Y 600 600 0
03 AlZZ=TQ =AY 600 600 0
OANEAIHEZ 600, 000! 600
301 LPBAI 97,260 97,500 A240
10 BAAEI 24 S 97,260 97,500 A240
OFUIRIRIMEl KHASAT Abl2 4
20,0002 *343% * 122 82,320
OFUNRIME ALSY HASAT Abl2a
20,0002 32 x2492 14,940
405 THAHF S 1,800 7,800 6,000
01 RMUSEH S| 1,800 7,800 26,000
ONOIEE AEI(AFR) 180,000 * 107 1,800
olEelexe 2 21,200 22,550 A1,350
201 L2yl 20,400 19,200 1,200
01 AR eIt 9,600 9,600 0
O HPETLBH 800,000 <128 9,600
02 IZ2Y| 10,800 9,600 1,200
OQZAUEF 013 L SRS 900,002 122 10,800
405 THAHE S 800 3,350 A2,550
01 RMUSEH S| 800 3,350 A2,550
OFUMENNY UAMLS HOIZ (A7)
200, 00024 *17H 200
OFUMENNY UANLE AR(AT)
50,0002 *44 600
SUy 2SN 75,030 75,030 0
301 LB A 75,030 75,030 0
05 -2 -BPES2BHI 75,030 75,030 0




M HHEIS
HH: BEIS FONME 29
Chel: FRUXXIME 245t (98
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
Os&=¢ 200,000& «21H x143| 58,800
OS&39 HA+g 20,0008 2122« 12& 10,080
ogtd =4 25,0003 *123H 23] 6,150
WRet==L S| 7,000 3,000 4,000
301 et2as 7,000 3,000 4,000
10 SAHAHIEA S 7,000 3,000 4,000
OMRe=2LLSI| HEL H2OHA S4H2
7,000& x50 23| x 108 7,000
A2 SEED 29 20,477 19,742 735
101 1A H] 12,277 12,492 A215
04 JIZHMIZ2XsSE = 12,277 12,492 N215
OX2AM 2l 12,277
—Jl== 35,5703 x2492 8,857
— Xt 35,5703 =12 427
— =5 35,5703 53¢ 1,886
—JdL=EE= 11,170,000& 2. 66% 298
—LoRABEE 298,000& *6.55% 20
—=og3= 11,170,000 *4.5% 503
—1228= 11,170,000 *1.75% 196
—MHEE= 11,170,000 %8/ 1,000 90
201 LEH2HH| 1,800 2,000 2200
01 AtS2t2ibl 1,800 2,000 A 200
OZEg=21 23l 150,000& 128 1,800
405 KH&HESHI 6,400 5,250 1,150
01 HARESF=H 1,400 250 1,150
OEMZEE ZRH(ZUHEE) 7 (4&7)
1,400,000& = 1CH 1,400
02 =M 5,000 5,000 0
O&EAMd 7Y 2,500,000 *22] 5,000
s EA2Y 78,380 58,948 19,432
AMSSEH] 59,380 54,448 4,932
201 Yereg| 59,380 54,448 4,932
01 AtR2teld] 5,000 0 5,000
OANE=& ¥ HIOH ZHI 5,000,000& 5,000
02 3223l 54,380 54,448 NGB8
O0332= & HAl 36,040
—dIIRe3 1,500,000& =123 18,000
—dotrER2=s 120,000& » 128 1,440
—EANIARS 1,200,000 x12& 14,400
—JItt 2323 ¥ HAl 100,000& «12& 1,200




CEHE1s
D EHE1S =2RXIAE

DS BAEE

H0
02

SN EE - S (BH) -

22
J2

20
B
2

—2EXNE & 0IE = 1,000,000& 1,000
OA&&Hl |Xdl 14,240
—2==83L Fa 85,000& 12Xt 1,020
—EA R ANEE & | 2,000,000& 2,000
—Matzte] =Zd| 400,000 x12& 4,800
— oAl 138,000 «12& 1,656
&gt 2te| =5  132,000&x12E 1,584
—sZJ1 ®A2eld 165,000& 128 1,980
—AENEHH =2 100,000& <128 1,200
oZExg ¢ 0lEX sAHl  300,0008 12 3,600
OENBiZ X (B2 E) 2SS |22l
500,000 500
EAEE IS 19,000 4,500 14,500
401 AIEHIZL 20U 19,000 4,500 14,500
01 Al£Hl 19,000 4,500 14,500
OFA =8 dolls2H & =S2cI3A
3,000, 000& 14 3,000
OFA SHAA X SA 3,000, 000& 14 3,000
OF A XIot& 1] g==3At 8,000,000 * 14| 8,000
OFXE =2 E3At 5,000,000 * 14! 5,000
Fo=3 AN 20,000 30,000 210,000
== EALENA 2l 20,000 30,000 A10,000
401 AEHIZ R0 20,000 30,000 A 10,000
01 Al£Hl 20,000 30,000 210,000
O =2 A 20,000, 000& 20,000
HY2AZHI(EHEI1S) 70,103 74,724 N4,621
I 2 25,943 37,524 211,581
eI 2| 25,943 37,524 A11,581
101 Q1] 25,943 25,724 219
03 RIAHAZZTE = 25,943 25,724 219
Os0HH FAt22/& 25,943
—Jl=s 836,680 «122 10,041
—Jlgsg 836,680 *400% 3,347
— A2 & 836,680 *200% 1,674
—HEF I 836,680 *150% 1,256
— WS 2| 140,000& »1E 123 1,680
—dASAH 80,000 x1H*12& 960
— =g 30,000& x1H+128 360
—ItE=g 40,0002 x 128 480
—A2eId 4,470 1. 581« 15A1 2+ %123 1,207




SN EBEIS
HH: HNRAFH(HEIS)
el o2yl (el &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O] Ak 4 il b o bRz
ey
4,470 +1.5HH*BAI 2Hx22 » 128 1,288
—2£01443
(836,680 /243) +B Al 2H#65%+ (111 <108 +12 2,400
EIED)
— oA Xt 4,4702 %8l 24420 716
—~MATIHEEE 25,409,009 %21/1,000 534
=2 44,160 37,200 6,960
o= 2| 44,160 37,200 6,960
201 L2y 16,200 19,200 £3,000
01 ALR eIt 16,200 19,200 £3,000
oR A2l 80,0002 +92 122 8,640
ORI 70,0002 %92 * 128 7,560
202 01t 16,200 18,000 A1,800
02 2o oft| 16,200 18,000 A1,800
SELTVE] 150,002 +92 122 16,200
203 REZH| 9,960 0 9,960
01 JlBRYARE Y| 6,600 0 6,600
OJlE2Y AR =Y 550, 00024 *122 6,600
02 HAI}MYREY| 360 0 360
OFAIMY 2= 40,0002 *9% 360
M4 FARYARETY 3,000 0 3,000
ORASgAREY) 250, 00024 *122 3,000
204 HRALAY) 1,800 0 1,800
NIEEEEERSTEN 1,800 0 1,800
OSH NMIYLLHAY| 150,008 122 1,800




AN HHE2S
M gHE2s FLUANXME =29

& FUXNXHEH 2L (el &)
_ _ SIEN
SNBSS - MEAY - BES 0 & 24 0l ot o Bz
EHE2s 442,146 440,649 1,497
EHEos =0 AXIHEH 23 367,915 362,685 5,230
O XY 43t 254,710 279,580 A24,870
FUNXEH 29 137,360 167,360 230,000
201 B3| 28,600 27,000 1,600
01 AtR 22/t 16,600 15,000 1,600
OFXXIHE 22| 500,000& «12& 6,000
OF AN 3o ALY
0,000 «25H « 128 9,000
OFeTXIHE SMEE ZAZ
400,000 *42] 1,600
03 A2 ZHI 12,000 12,000 0
OFUNXIHE &F YHES 5,000, 000& 5,000
OFQUXNXHE WF - As ¥ FAEHEEZ
8 2g 7,000,000& 7,000
203 HRF4Hl 600 600 0
03 AMF=XHL=LH| 600 600 0
OANEAM F=HES 600,000& 600
301 LetEaag 98,460 103,760 5,300
10 ALAHIE &= 98,460 103,760 25,300
OFCUXXIEEH XHEASALA &I 24
20,0003 »348H <128 83,520
OF0IXXIAEH A2 XNASAA AU24
20,0003 x3H 249 14,940
405 KHaHFESHI 9,700 36,000 226,300
01 HARESF=H 4,700 31,000 A26,300
OF XX HEH SE(4F) 4,700
—E 20 900, 000& *3CH 2,700
—ZRHLY WsE TV 2,000,000 = 1CH 2,000
02 EM7H 5,000 5,000 0
OBUR A2 A2 M7 10,0003 500 5,000
QIEYEXe 23 25,600 24,050 1,550
201 LBt 3| 22,800 22,200 600
01 AtS 22l 10,800 10,800 0
ORIZAFHARFL +=EH| 900,000& «12& 10,800
02 =234l 12,000 11,400 600
Oz32= & HAl 12,000
— QIS SERS 750,000& *12& 9,000
—QIAESHE E20HE €& RERS
3,000,000& 3,000
405 AHoHESHI 2,800 1,850 950




AN HHE2S
M gHE2s FLUANXME =29

el —’F—E‘X}ilgllﬂ =kl EEEEE]
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
01 T =SS HSHI 2,800 1,850 950
O34 olgule ARH PU(2LIHEE, U
Al 1,400,000 »2CH 2,800
s.88 gsX& 82,190 82,190 0
301 Yptsaag 82,190 82,190 0
06 &-cl-EEdEs2as 82,190 82,190 0
Oos&=+¢ 200,000 23E *143| 64,400
OS&3 e FA&x=g 20,0003 «23H*23| 128 11,040
Ot ¢ 25,0003 135 #23| 6,750
MWRet==2 eS| 7,060 3,180 3,880
201 LBt 60 180 A 120
02 2Z223H| 60 180 A120
Ol MASH MIIe= 5,000& 122 60
301 YptEaazg 7,000 3,000 4,000
10 BALAHIEA S 7,000 3,000 4,000
ONMRe =252 US| HEL FOI =S4
7,000& *50H «23| x 102 7,000
AXE OlsE4 2,500 2,800 A 300
201 LBt 1,000 1,200 A 200
03 dArZEHI 1,000 1,200 A 200
OBUSR 40| 2t ALK& HI
1,000,000& 1,000
301 LEtE A= 1,500 1,600 A 100
10 EAIAHIE A = 1,500 1,600 A100
OFULSR HE40| 2otk 1,500,000& 1,500
= IN2Y 93,205 53,105 40,100
EA2ZEHI 62,705 47,605 15,100
201 Let2d| 54,105 47,605 6,500
01 AFR 22| 6,000 0 6,000
OANE+F= & HIOF EHI 6,000, 000& 14 6,000
02 =234l 48,105 47,605 500
O=232z= & HA 15,685
—&IIe3 1,100,000 x12& 13,200
— &0t 23 100,000& = 12& 1,200
—JIEt B32= & AA 1,285,000& 1,285
(@) K=3:] 12,000
—SANNARS 1,000,000& x12& 12,000
OAl &&= Xl 11,520
— &A= Xl 300,000& «12& 3,600
— oAl 170,000 «12& 2,040




AN HHE2S

M gHE2S FQUAXIME

(o]
o

H0

el S ARG

_ _ _ Muo
SNBSS - MEAY - BES Aboy e =2
— &AL ateteltl 110,000& = 12& 1,320
—52ZJ| ®X &l 180,000& x12& 2,160
—JIE Al &8l |l 200,000& x12& 2,400
OXt&| 4,200
—X&E s X 300,000& x12& 3,600
—0l&X =Xl 50,000& x12& 600
OEAMEZE et=ZH| 350,000& «12& 4,200
OtM e E 282 KX 22| 500,000 500
401 AlEHIZ 2 Y 5,300 0 5,300
01 Al&H| 5,300 0 5,300
OdelHoH 2ZEd0l12 Wi
2,300,000 *14] 2,300
OdLrg Il AlelD|l &l 1,500,000 *2CH 3,000
405 Kot S| 3,300 0 3,300
01 TN ESHSHI 3,300 0 3,300
O™AE HOIS (&) 100, 000& *20H 2,000
O#AME 2XHAIF) 13,0002 * 10074 1,300
AR Z O 30,500 5,500 25,000
401 A &HIL 2048 30,500 4,000 26,500
01 Al&H| 30,500 4,000 26,500
OFAL CCTV S& & 0ld SAt
10,000,000 * 14! 10,000
OSUH=22 WR SZMHE SA
2,500, 000& 14 2,500
OXlotE 2t20l ¥ =22t EXSA
5,000,000 *14] 5,000
OFQXXIEEH AR S3ME At
13,000, 0002 * 14 13,000
FU=2AY 20,000 30,000 210,000
FOSEALE &I 20,000 30,000 210,000
401 A EHIL 2048 20,000 30,000 A 10,000
01 Al&H| 20,000 30,000 210,000
OF0I= Al 20,000, 000& 20,000
HY2HHHI(EHE2S) 74,231 74,624 A 393
el | 25,431 36,974 A 11,543
el H| 25,431 36,974 A 11,543
101 Q14| 25,431 25,174 257
03 RIAHAZZHE = 25,431 25,174 257
Os =0dgy A2 & 25,431
—Jlaz 836,680& «12& 10,041




AN HHE2S

M HH2IAHI(HHE2S)
&l QI 2AY| (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—J|g=g 836, 6803 *400% 3,347
—JtAIXI& I 836, 680& *200% 1,674
—HEFOtd| 836,680 *150% 1,256
— WS 2| 140,000& <128 1,680
— UGS A 80,000& 123 960
— A== 30,000& 128 360
—IIE==g 40,0003 x 122 480
—ZU22E 44703 «1.5Hx15A1 2t 12E 1,207
—gua94g
4,4703 1 . 5HH x8 Al 2Hx22 x 12 1,288
—25IH3
(836,680 /243) x8Al 2+ x65%+9'E « 123 1,934
— Xt 4, 4703 «BAI 2+ 19 680
—MTHEE = 24,907,000& *21/1,000 524
Jl2& | 48,800 37,650 11,150
Jle=3| 48,800 37,650 11,150
201 LetHH| 18,000 19,200 A1,200
01 AtE222/Hl 18,000 19,200 A 1,200
OR M2l 80,000& 10€ «x12& 9,600
OJl=sEl 70,0003 *10E «12& 8,400
202 O4Hl 18,000 18,000 0
02 MO 18,000 18,000 0
O M 150,000 *10E «12& 18,000
203 HRF&Hl 10,000 0 10,000
01 J|22SHFF=&HI 6,600 0 6,600
OJI 22 HRF48] 550,000& «12& 6,600
02 FJANMAMHRFAHI 400 0 400
OZ I H =] 40,000& 10 400
04 BEASIHFFEHI 3,000 0 3,000
ORN2IHRF4AHI 250,000& «12& 3,000
204 XA 1,800 0 1,800
01 Mg HPHA| 1,800 0 1,800
Osd MY FH| 150,000& 128 1,800
405 AHoHESHI 1,000 450 550
01 MHARESFSH 1,000 450 550
OXZ&E HI(UA) 1,000, 000& »1CH 1,000




FH: EHE3S
M EHE3s FLUANXME =29

el FUIRXIME A5 (25 &2
_ o i =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
BN T3S 528,021 501,824 26,197
EIE3S FOIRAME 29 458,197 421,792 36,405
FOXXIME 25 328,277 272,432 55,845
ZONKME 2 202,600 143,240 59,360
201 LByl 32,200 31,200 1,000
01 ALRelt] 16,200 16,200 0
OFIRXIME S| 600,000% * 1224 7,200
OFURKR 819 A2
0,000 x25% * 128 9,000
03 A2 | 16,000 15,000 1,000
OFANRIME HBLHS 5,000,0002! 5,000
O% - =2 Rz 07 4,000, 0002 4,000
OFUNAME DB - A3 L HAHHBEZ
0y 2y 7,000,00024 7,000
203 HRFY| 600 600 0
03 AlMEZAR=TY| 600 600 0
ONFAY HE=T 600, 0002 600
301 LB A 154,500 111,440 43,060
10 BAAEI 2 A S 154,500 111,440 43,060
OFURME KHAZSA AHI24
20,0002 540 * 122 129,600
OFUNXIME AMB2l HAZAK A2
20, 00021 *52 +2492 24,900
405 THAHF S 15,300 0 15,300
01 RMUSEHSH| 15,300 0 15,300
OSYSH XS (&) 150, 000! %2074 3,000
OFR(MF) 100,000 %2074 2,000
O RTH (&1 77) 900, 0002 24 1,800
SEESIEWE-IONEY 5,000, 00024 +14} 5,000
OFXF A (A7) 2,000,0002!+1CH 2,000
OZALE DRAH(AF) 50, 00024 *307H 1,500
plERHel 2 21,600 20,400 1,200
201 Yer2 YY) 21,600 20,400 1,200
01 A2l 9,600 9,600 0
ODIHN ARETLBY 800,000 122 9,600
02 B2 2,000 10,800 1,200
OFUSE 2 ASI=X BRI
1,000, 0002 122 12,000
S.BE 2SN 72,300 72,300 0
301 LB A 72,300 72,300 0




FH: EHE3S
M EHE3s FLUANXME =29

Ciol: FOIKIME B3 (e a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
05 -2 -dess8a3 72,300 72,300 0
(@F=FSE=y 200, 000& x20H *14 3| 56,000
OS&E3Z 9 HALZ 20,0003 *x20YH*x235|x12& 9,600
Obt& =& 25,0008 x134H x23| 6,700
HRet=252Z =] 7,000 3,000 4,000
301 LEtEAZ 7,000 3,000 4,000
10 SAIAHIEAZ2 7,000 3,000 4,000
ONRet=2=20t=| HEA 2L 24|
7,000& *50H *23| *10& 7,000
2N SEE0 29 24,777 33,492 N8,715
101 1A H| 12,277 12,492 N215
04 JIZtMI22XNHsEE2 12,277 12,492 A215
A2 2A22A 12,277
—J|l22 35,570& » 1Y x249 8,857
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OFQUXXHE s ZHFHUH)
1,100,000 = 10CH 11,000
OFUXNXME IEE2 2UEH ()
400,000 *2CH 800
OHICIQEZZHME (A7) 2,000,000& = 1CH 2,000
Og M (ATel, AlR) 500, 000& *1CH 500
OBICIRLEZZ M E (CHA) 3,000,000 = 1CH 3,000
OgA (A3, ) 1,000, 0003 »1CH 1,000
OFUNXIHE &AM J|H 2,500
— HWEQFALXI(CHAI) 500, 000& » 14 500
— HAR(HS, A7) 1,500,000& * 14! 1,500
— HIXZYA (M) 450,000& =14 450
— BIXIZEH(AI7) 50, 000& * 14! 50
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SN
X XH .
S Tt

el

_ _ SIEN
SAN-Z3H - SAFA) - HF Hg= &HeR Ol AF o8 HusZ
10 BAIRHI2AS 7,000 3,000 4,000
OMRBBSLESI HE2 HOIX SA
7,0002 550% +25] 10 7,000
ETSPE )] 30,000 30,000 0
307 I2H0IH 30,000 30,000 0
04 DIZFBALE X 30,000 30,000 0
OgHa B8 =5 30,000, 0002 30,000
IAEY 181,330 310,047 A128,717
A2 S A 76,330 61,110 15,220
201 2Bt ) 76,330 61,110 15,220
01 At 5,000 0 5,000
OANETS ¢ HIO+ ZH| 5,000,0002 5,000
02 22| 71,330 61,110 10,220
0222 ¥ Al 600,000 » 128 19,200
Odst4+=23 4000002+ 128 4,800
OJIEt 2822 % Al 1,200,0002 1,200
OBl TANARS 1,750,000 * 128 21,000
OAERHIR Y] 200,0002! 128 2,400
SLLIETIRES= 200,0002! 128 2,400
0220 |2 170,008 » 122 2,040
OJIEF Al&ZHIR Y| 612,500« 128 7.350
OX IR bl 500,0002 128 6.000
SUESEIL] 50,0002 » 128 600
OBAMSY LetgH| 100,000 » 128 1,200
OSEA gstzre el 20,0002+ 128 2,640
OFN Y X 228 |2t 500, 0002 500
AR ZHA 105,000 248,937 A143,937
401 Al HI2 2 CHY| 105,000 248,937 A143,937
01 Al&H] 105,000 248,937 143,937
OZHABAA L &XIBA 7.000,0002! 7,000
OSEA A K2UBA 70,000, 0002 70,000
OSHA CCTV EXIBA 15,000, 0002 15,000
OSZA #5d 24X ¥ 88 X
3,000,0002 3,000
OSEAM ==L 2,000,0002! 2,000
OSEA SZA B2BAHXIGHS)
8.000,0002! 8,000
FOIR ALY 20,000 30,000 £10,000
ZOIZTAE HY| 20,000 30,000 £10,000
401 Al BI2 2 CH| 20,000 30,000 £10,000




SN LE2E
HH: 225 FONIME 29
Chel: RIS RAIY CR-E]
Ao S2(B1) - HSAY - B2 Abol e =2
01 Al&HI 20,000 30,000 A 10,000
OZF 0l =g AL H| 20,000,000& 20,000
HESAAH| (£=X2S) 73,109 76,089 A2,980
ol 2A 25,309 36,889 A 11,580
ol 2 A 25,309 36,889 A 11,580
101 ol 24| 25,309 25,089 220
03 RIHAZ =X E > 25,309 25,089 220
OSF0IHEH HAZEA 25,309
—Jleg=s 836,680 x1H x12& 10,041
—J|Lg 836, 680-& *400% 3,347
— JA X &8I 836, 680& x200% 1,674
— Y& Ity 836,680& *150% 1,256
— S22 XY 140,000 x1H =12 1,680
—HHFZAH| 80,000& x1H x12& 960
— MG 30,000& x12& 360
—ItE4 20,000& »3Y «12& 720
— X2 2Y 6,700& *x1Hx15A| 2t 12 1,206
—SUAI2LY 44703 %1.5x8A1 2tx22L x 122 1,288
PN 4, 4703 *8A| 2Fx18L 644
—2EIA 3 3,443 3 *8L x65%+7 .5 EH x 12 1,612
—MHEEZ 24,788,000 *21/1,000 521
Jl=2Z 4l 47,800 39,200 8,600
=34t 47,800 39,200 8,600
201 et | 18,000 19,200 A 1,200
01 AP Zelbl 18,000 19,200 AN 1,200
OFENM2EH| 80,000& 10 x12& 9,600
(Or=1=1:] 70,000& x10¥ = 12& 8,400
202 044l 18,000 18,000 0
02 XA b 18,000 18,000 0
OJI2g =30l 150,000& *10H «12& 18,000
203 PR =&| 10,000 0 10,000
01 D229 RF=EY| 6,600 0 6,600
OJ|A#2HPRFLH| 550,000& *12& 6,600
02 HAINER=RH| 400 0 400
OFJIERFRY| 40,000& x10Y 400
04 2A2ILERF=EHI 3,000 0 3,000
ORNSEIRF&H| 250,000& x12& 3,000
204 X FSHAHH| 1,800 0 1,800
01 IR HBH| 1,800 0 1,800
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SN

ciis

M Hiis FeUUXdE 2
el FRUXXIME 243t (el =3
_ = FSRE =
SN BHG(SH) - NRAY - BES Ol & o8 Hluse
s 338,055 382,314 A44,259
Hiis = AXIHEH 29 270,206 300,960 A 30,754
FUNXHEH 243 183,550 180,020 3,530
FEUIXHEH 22 99,860 101,730 A 1,870
201 et=gl 20,000 25,900 5,900
01 AtR 22/t 15,000 15,900 A 900
OFXXEH 2 500,000& 12 6,000
OFeTxAH 32 =g
30,0003 x25H x12& 9,000
03 A2 HI 5,000 10,000 /5,000
OFUXNXHE &S 3,000,000 * 14! 3,000
OF0XXIHEH Ast S 2,000,000& =14 2,000
203 AR =& 600 600 0
03 A=A HIS=LH| 600 600 0
OANEAY g5 =28 600,000& 600
301 et as 75,960 70,120 5,840
10 SAHAHIEA S 75,960 70,120 5,840
OFQTXIHE XHEHSAA AHIE4
20,0003 275 x 128 66,000
OFQURXIHE Ald2tel ANESAA AH24
20,0003 »2H 240 9,960
405 XtobE SHI 3,300 1,110 2,190
01 MR ESF=H 3,300 1,110 2,190
O=QRRHH 228 235 (&) 3,300
—ZdoE M 200,000 =104 2,000
—Z22E X 55,000& 204 1,100
—3l0IEEE 200,000 *1H 200
QIAAEHe 29 19,760 18,360 1,400
201 LEH2HH| 18,360 18,360 0
01 AtS2t2ibl 9,600 9,600 0
Ouzdd g2=8 =& 800,000& «12& 9,600
02 2323l 8,760 8,760 0
oz32= £ A 8,760
—BUHE0S RER=
1,750& 3601 12 7,560
—JItt 2ER=s 2503 *4000 =123 1,200
405 XtobE SHI 1,400 0 1,400
01 ML ESFSH 1,400 0 1,400
Ot Zgd +# 1,400,000 = 1CH 1,400
s. 8y 25X 56,930 56,930 0




S SIS

Ha: oS FOURIME 29
el FOIMRIME B (B9 &2
SA BB H(BH) - MBAY - B2 Ofl &F o4 gggi; HRs2
301 YerEA3 56,930 56,930 0
05 £-2 - HHESSHD 56,930 56,930 0
OsH 52,480
-4+ 200,0002 * 162 * 143 44,800
—slolas sy 20,0002 *16% *23| * 122 7,680
OptE+g 25,0002 89 +23] 4,450
BRIl =] 7,000 3,000 4,000
301 YA 7,000 3,000 4,000
10 BALAHI R AS 7,000 3,000 4,000
OMRE B2UNSI| HHAFOK SAY]
7,000 502 %25 * 102 7,000
S BARY 66,656 90,940 ~24,284
HAS BB 66,656 90,940 ~24,284
201 Y2 ay| 41,656 36,240 5,416
01 ALR2relH] 5,000 0 5,000
ONEDSE % HOF Byl 5,000,00024 5,000
02 =2l 36,656 36,240 416
O2223 % HA 13,200
= PlI=E! 800,0002 122 9,600
— & 54E 23 100, 0002 * 122 1,200
—JIEt BBR2 2L MM  200,000% 122 2,400
oot 2| 9,600
—EAIIARE 800,0002 122 9,600
OAEEHI ST 9,756
—HAS X 300,0002 122 3,600
N NEEReN= 203,0002 122 2,436
—EA gty 110,0002! * 122 1,320
—JIEF AR 2| 200,0002 122 2,400
ORI 300,0002 122 3,600
OMBHZ = (B2 X) 298 KX 2ol
500,000 500
401 AEBIL S0 25,000 54,700 A29,700
01 Al 25,000 54,700 £29,700
O ZUME 25 21292 A
25,000,0002 *14! 25,000
=AY 20,000 30,000 A10,000
DIZEALE H| 20,000 30,000 10,000
401 AEHIL 2] 20,000 30,000 A10,000
01 Al 20,000 30,000 10,000
OZ o= A Y] 20,000,000 20,000




S BS
B BHSAAH (SHS)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS sy S RS2
Ol &
HY2AHU (HUHS) 67,849 78,654 A 10,805
ol 2| 27,329 38,874 A 11,545
ol 2| 27,329 38,874 A 11,545
101 Q14| 27,329 27,114 215
03 RIAHA2Z2NHE = 27,329 27,114 215
O F0ldg A& 27,329
=] 836,680& x1H «12& 10,041
—J|g=< 836,680 *400% 3,347
—JtAIXI& I 836,680 *200% 1,674
—HEFOHY| 836,680 *150% 1,256
— WSS & 140,000 x12& 1,680
—Z g A 80,000& x12& 960
— Pl 30,0003 x12& 360
—ItE= 20,0003 18 +12& 240
—ZU22Y 6,700& x15A| 2h+12& 1,206
—5222E 35,7603 *1.5x22 x12& 1,288
— X< 35,7603 22 787
— 2=t 3
3,443 xBA| 2++65%+18.3E » 123 3,932
—dNHEE S 26,556,000& *21/1,000 558
=&l 40,520 39,780 740
Jl2Z | 40,520 39,780 740
201 LBt A 14,400 17,280 A2,880
01 AtE222|H] 14,400 17,280 A2,880
ORAMZEHI 80,0003 x8H x12& 7,680
OF=3=i:] 70,0003 x8H +12& 6,720
202 Oidl 14,400 16,200 A 1,800
02 EHHYI 14,400 16,200 A 1,800
OF-E.10 1] 150,000 *8F x 123 14,400
203 HRF&H| 9,920 0 9,920
01 J|22ZFRF&H| 6,600 0 6,600
OJ|#2Z 2= 6,600,000& 6,600
02 HRIAHSF=EH| 320 0 320
O&EJ IR =] 40,0003 »8H 320
04 FN2IHRFAHI 3,000 0 3,000
ORAMZ2ZHRF=AI 250,000 x12& 3,000
204 XA H| 1,800 0 1,800
01 HMIYS A 1,800 0 1,800
Osd ¥ ggR3H 150,000& «12& 1,800




SH:AES
Hal: MHE FOURIME 29
ool ZOINXIME a5
_ _ _ Muo
A B3 C9(30) - MRAY - B2 Ao il ot o
N 452,348 411,013
AHE FOTAME 2 383,030 334,200
REXIME 2S5 232,080 215,540
QIRIXIME 2 138,760 125,120
201 Ygreg| 30,900 28,200
01 Attt 8,900 16,200
OFQURXIME 2| 700,000 +122 8,400
OFQXXIFIAS| 5|0 &4
30,0002 %252 « 128 9,000
OFUNXIME QAWLBAIR 500,008 33! 1,500
03 A2 Y| 12,000 12,000
OFUNXIME XHB 2H3 5,000, 0002 5,000
OFUNXIME DF - A3t U HAHMBE2
0y 2y 7,000, 0002 7,000
203 HRFY| 600 600
03 AlZZ=TQ R =Y 600 600
ONFAE =RES 600, 0002 600
301 LB A 93,960 91,720
10 BAAEI 2 A S 93,960 91,720
OFURRME KHAZATHLA) AbI24
20,0002 %3502 * 122 84,000
OFQXXIMEl AILRE THRSAX AHI2A
20,0002 %2 2492 9,960
405 THAHE S 13,300 4,600
01 RMUSEH S| 13,300 4,600
OHAI (A7) 13,300
— Ol 3,000, 00021 *3CH 9,000
— W0l 2 1,100, 00024 *3CH 3,300
—WE ALK 500, 000! *2CH 1,000
olpgexe 29 21,600 19,200
201 Yer2g| 21,600 19,200
01 AtR2elt] 9,600 9,600
OQIESHASER +2H 800,002 128 9,600
02 IT2YH| 12,000 9,600
SEPIEST-E 800,002 *122 9,600
OYHLTR I 200,0002 128 2,400
S 8% #sKd 68,220 68,220
301 LHBAIS 68,220 68,220
05 -2 - UPHS2BAI 68,220 68,220
oSz 62,320




SA: MHE
Ha: AHE EORX
o =

|
el FRUXXIME 243t (el =3

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

—==g 200,000& 19 *143] 53,200
— 3| &AL 20,0003 x 19 »23| 12 9,120
OgtaE =4 25,0003 118 23| 5,900

MWRet==2ers0| 3,500 3,000 500

301 LEtEAZ 3,500 3,000 500

10 EALAHIBAS 3,500 3,000 500

ONRe==2Z0SI| WA SI0HA S4l

7,000 x50 23| x5 3,500

s ZAN2Y 130,950 88,660 42,290

A2 Z ZHI 130,950 88,660 42,290

201 LBty 119,160 80,160 39,000

01 AFR22lH| 14,800 4,800 10,000
OFE A2t get===H| 400,0003 +x12& 4,800
OANEFS & HIOF I 10,000,000& 10,000

02 2223H| 104,360 75,360 29,000
O3232= & HA 39,600
—&IIe3 2,500,000& = 12& 30,000
—dol+=ERa 550,000& = 12& 6,600
—JIEtE22=2 & MAl 250,000& x12& 3,000
OAZHl 42,000
—SAIARS 3,500,000 x12& 42,000
(OINE=F-1:=1E=IN}:] 17,960
— & AR Xl 400,0003 x12& 4,800
—2oddls2 150,000& = 12& 1,800
—Hdojetd2te] ===  160,000& <128 1,920
— AN E AT 120,000& x12& 1,440
—s=&J| ®X &l 200,000& = 12& 2,400
—&EA2Y HAH 2,000,000 *12] 2,000
—JIEt Al EHIs X 300,000& = 12& 3,600
OXt&| 4,800
— &KX 300,000& x12& 3,600
—0lE X=X H| 100,000& x12& 1,200

401 A &HIL 2048 10,500 3,000 7,500

01 Al&H| 10,500 3,000 7,500
OEMBH 2F = Al & = X I 500,000& 500
OXgZ el 3A 6,000,000 6,000
OHEIIEX B2 I3A 4,000,000& 4,000

405 THaHE S| 1,290 5,500 A4,210

01 HArLSEH S| 1,290 5,500 £4,210
OO0l = elEf (&) 790,000 *1CH 790




SH:AES
HE: NS FUNRME 29
o9 = BMSY (e @8
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz
OAIMUH (A7) 500,000% * 1H 500
ZOIER ALY 20,000 30,000 £10,000
ZoIZBAIE H| 20,000 30,000 £10,000
401 AEHI2L 2] 20,000 30,000 210,000
01 Al&l 20,000 30,000 £10,000
SEIEEP=T 20,000, 0002! 20,000
HHSHAH (M S) 69,318 73,793 A4,475
ol 2| 25,118 36,593 A11,475
ol 2| 25,118 36,593 A11,475
101 Q1248 25,118 24,793 325
03 RIIHAZ 2N S 25,118 24,793 325
OS ZOUHE HAZ2IR 25,118
=2 83668021 *12 122 10,041
—Jlgay 836, 680! *400% 3,347
—ZD2RLY 6,700 1Z*15AI2« 128 1,206
—5u224+y 35,7602 *1.5+22 ¥ 128 1,288
—SlMay 30,0008 %1% +122 360
— iR Y 35,7602 %1% +182 644
—ZAZA| 80,0002 * 1% +122 960
—nE2EH| 140,00021 *12 128 1,680
— Y= EH| 836, 68021 * 150% 1,256
— b2 X 2| 836, 6802 *200% 1,674
—DHIMIZ 3,443 +BL 65K 10U < 122 2,149
—MATHEER 24,386, 1032 %21/1,000 513
LR 44,200 37,200 7,000
= 44,200 37,200 7,000
201 Yereoty| 16,200 19,200 A3,000
01 AtR22lt| 16,200 19,200 3,000
ORN2H| 80,0002 9% +122 8,640
SEET] 70,0002 %9 * 122 7,560
202 01t 16,200 18,000 A1,800
02 2 01| 16,200 18,000 ~1,800
OZ0it| 150,0002 ¥9 * 122 16,200
203 YR =X 10,000 0 10,000
01 JIZS YL =AY 6,600 0 6,600
OJlzeyL x| 6,600,000 6,600
02 HRATPMAREAY] 400 0 400
OF IR E Y| 40,0002 10 400
04 SNSYHRFAY] 3,000 0 3,000
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SRR ONE=S

o NS FOUNKNME 2
el FUIRXIME B3 (S5 &)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
I 508, 118 620,806 £112,688
ANS FYURNKME 2 429,361 533,248 ~108,887
FOXXIME 25 237,914 344,458 A106,544
ZONKME 2 168,860 283,113 A114,253
201 LByl 27,000 27,000 0
01 ALRelt] 15,000 15,000 0
OFIRXIME S| 500,000% * 1224 6,000
OFUNXIARE 50| &alSg
30,0002 %25% #1235 9,000
03 A2 | 2,000 12,000 0
OFANRIME HBLHS 5,000,0002! 5,000
OFURAME LF - A8 L FLUHSD2
0y 2y 7,000,00024 7,000
203 HREAY] 600 600 0
03 AlMEZAR=TY| 600 600 0
ONFAY BE=T 600, 0002 600
301 YB3 131,880 133,040 A1,160
10 BAAEI 24 S 131,880 133,040 A1,160
OFURAME TSR MY
20,0002 *425% *12% 102,000
OFQUNXIME AMB2 HAZAK A2
20,0002 62 +2492 29,880
405 XHAHE SHI 9,380 122,473 A113,003
01 RMUSEHSH| 4,380 115,473 A111,003
ORI (417 50,0002 * 14 150
O (0BE, A7) 1,500, 00021 +1CH 1,500
OBIIFHII (A7) 80,0002 * 14 800
OOl M T RIE (ME, A7) 790,0002 * 14 790
OREII (&) 420,000 *2CH 840
OFAII (A7) 300,000% * 1H 300
02 SHTY| 5,000 7,000 A2,000
OXSTHB2Y THTY 5,000,000 5,000
plEYe e 29 26, 154 22,445 3,709
201 LByl 26, 154 22,445 3,709
01 At 2lt] 17, 154 15,245 1,909
ODIHFALER 48 700,000 122 8,400
OolZEYEHSR 7 63, 00021 %208 A 1,260
OFUSESEE2SN 7Y 26,0002 #5082 1,300
OSESZYLIANAYLDE 7Y
300,000% 122 3,600




SRR ONE=S
g NS FUXX
el FRUXXIME 243t (el &)

SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
SEEEEEENNTE B
648,300 x42 | 2,594
02 ss29H| 9,000 7,200 1,800
OoIZHEOIEsS 2ER2 750,000& x12& 9,000
S, 8t gsX3 35,900 35,900 0
301 LEtEAZ 35,900 35,900 0
05 -2 -dEs8a3 35,900 35,900 0
(@F=FSE=y 32,800
—s&s4 200,000& x10H *143] 28,000
—S&SQEFA LG 20,0003 *10Y x25| x12& 4,800
(@)1 FSE=y 25,0003 x62H x23| 3,100
HRet=2=52Z 0= 7,000 3,000 4,000
301 LEtE A2 7,000 3,000 4,000
10 EHAIAHIEAZ 7,000 3,000 4,000
OMNRst S2=20=)| UE3Ax F2OHL =AHS
7,000& x50 *23| 10 7,000
SEAN2Y 171,447 163,790 7,657
HAS2EZ Y| 146,690 130,690 16,000
201 Et24| 146,690 130,690 16,000
02 S=2494l 146,690 130,690 16,000
Os32=2 % HA 128,350
—aldkate| | 5,550,000& x12& 66,600
&2 2,100,000& x12& 25,200
— MOt ER= 600, 000& x12& 7,200
—ZAIARZ 2,400,000& x12& 28,800
—JIEt33e2 550,000 550
OAI& &H| X8l 11,040
— &AL AIEZ2 X 22l
500,000& x12& 6,000
—ROoIHHIANAY 292 420,000& x12& 5,040
o&Exe Al 4,300
—2Z2XE A 300,000& x12& 3,600
—24EXNE B8 700,000& *13] 700
Od/Ltetd] EXI0 2 e SA
1,500,000& 1,500
OEMBH X 2HE | X22lb] 500,000& 500
OFEAI HIE® A 1,000,000& 13| 1,000
HALEHZE A 24,757 33,100 N8,343
201 Y2y 7,500 0 7,500
01 AP 22l 7,500 0 7,500
OA&EZ?S & AIEHIDF EHl 7,500,000 =14 7,500
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201 2ere | 25,800 25,800 0
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03 ABETYRE 600 600 0
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405 XrarF S| 9,000 7,000 2,000
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
OMBE ZSULHSI| HHAHOIK 244
7,0002 %30 *25] « 102 4,200
S FN2Y 50,479 69,320 ~18,841
A2 P 2| 50,479 26,320 24, 159
201 Yer2o| 50,479 26,320 24, 159
01 AtR2elt] 4,279 0 4,279
OANZTE 2 HOH B 4,279,0002 4,279
02 ZB2ZY| 46,200 26,320 19,880
03222 2 HA 27,700
~®J1e2 1,000,000 * 122 2,000
— &5 +E23 50,0002 * 122 600
—2ENY PHE 700,000 *1CH 700
—CAJIARE 900,000 *122 10,800
—JIEt 2223 300,0002 *122 3,600
O o2l 3,600
—HAF(EH) LY 300,000 *122 3,600
OAN&ZE SXHI 8,400
—2oAYaAR 200,000 *122 2,400
—JIEFAI S ZHIRXIHI 200,000 *122 2,400
— H AR 300,0002 *122 3,600
ORI 300,0002! 122 3,600
OEMBIZ = SXI22lt] 500,000 %14} 500
OFA2Y YeragH| 200,000 *122 2,400
ZoI= R ALY 20,000 30,000 10,000
ZoIZHAIE F| 20,000 30,000 ~10,000
401 AN EHIYLR ] 20,000 30,000 £10,000
01 Al&tl 20,000 30,000 210,000
CELIETPN=T 20,000,0002 20,000
HHLSHAY (MES) 58,590 59,090 A500
ol 2| 25,350 36,770 A11,420
ol 2| 25,350 36,770 A11,420
101 Q124 25,350 25, 130 220
03 RIAHAIER 4 25,350 25, 130 220
OSZoHME FAZ2IY 25,350
22 836,680 *122 10,041
—Jlzay 836, 6802 *400% 3,347
— b X bl 836, 6802 *200% 1,674
—YEEIH| 836,680 *150% 1,256
S =CES 140,0002! 12 1,680
—Z oAl 80,0002 * 122 960
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—gua94g
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—2HI1a2
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]l 33,240 22,320 10,920
A B2 A | 10,800 11,520 ANT20
Ar2 2l 10,800 11,520 AT20
OFNM2ZHI 80,0003 x6ZH x12& 5,760
OJ12= &l 70,0003 x6H x12& 5,040
(Cl=] 10,800 10,800 0
RG] 10,800 10,800 0
O HHHI 150,000 x6H «12& 10,800
HE =&l 9,840 0 9,840
I 2R 6,600 0 6,600
OJI22IARF&H| 550,000& x12& 6,600
R R = XH| 240 0 240
OFAIAH L FAH| 40,0003 x6H 240
FA2IYERF=AH| 3,000 0 3,000
ORAMZ2ZHERF2AI 250,000& x12& 3,000
R4 AY| 1,800 0 1,800
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201 L2 17,800 17,800 0
01 ArR 22l 13,800 13,800 0
OFXXIHEH 24 400,000& 123 4,800
OFUXXAAS gl A&
30,000 #2525 128 9,000
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OFRINXME HBUHS| 2,000,0002! 2,000
OFQIXXIME 28 Y W& 2,000,0002! 2,000
203 HRF&H| 600 600 0
03 AlZEXQAREY 600 600 0
OANEAZ g5 X 600,0002! 600
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10 EALAHIZEAS 43,380 27,860 15,520
O=F0IXXIHEH XH&SALA &I 24
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OFQIXXIMEH A2 NASAAL A-24
20,0008 * 19 x2492 4,980
405 KH&HFESHI 8,200 1,150 7,050
01 KAUSE S SH 8,200 1,150 7,050
OE 0 (THAN) 700,000 «1CH 700
OLts A (AlR) 2,500,000 = 1CH 2,500
OMNSHOIESFE UIIA(AFA)
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02 S22 1,800 1,800 0
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05 -2 SHRBSEANS 30,870 30,870 0
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OAN&E+= & HIOH #dI 7,000,000& 7,000
02 2323l 26,540 31,000 A4,460
ONIIe3 800,000& 12 9,600
O4,ot=Ex= 30,000& 123 360
OJIEt 32323 & HAl 300,000 300
OFA & & 2 X4 400,000& 123 4,800
OoRoZtdlsgz 225,000& «128 2,700
OJIEt AIZ2EHI=XId| 200,000& 128 2,400
OEMEHZFAIE & = XIH] 500,000& 500
Oxt& =Xl 300,000 «12& 3,600
OXNEEE =S 600, 000& *12] 600
OO0lE X=Xl Hl 40,0002 =128 480
OFMN2SLet=2H| 100,000& 128 1,200
405 KH&HFESHI 2,100 2,800 AT700
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OOl =D (CHA ) 400, 0003 * 14 400
OJIAE (&) 1,000, 000& * 14 1,000
OXNEHE2U (&) 700,000& 1CH 700
E=PNECEE D P 13,560 39,720 A26,160
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01 Al&H| 13,560 39,720 A 26,160
OSEN BEH=E Y3 M 60, 000& »226 m 13,560
FR=JA AN 20,000 30,000 A 10,000
FUEHALE FHI 20,000 30,000 A 10,000
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A2 A 27,663 39,084 A11,421
101 el H] 27,663 27,444 219
03 RIHAZZXE = 27,663 27,444 219
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—Jl22 836,680 x1H +12& 10,041
—Jlgs=dg 836, 680& *400% 3,347
—JHAXI & Y| 836,680 *200% 1,674
—us2 2| 140,000& 128 1,680
—HE SOl 836, 6803 «150% 1,256
— M S A 80,000& »12& 960
— M= 30,000& *12& 360
— =22 6,700 x15A1 2t*12& 1,206
—5Y2RE 35,7603 *1.5%x2 « 123 1,288
—oixtag 35,7601 242 859
—2aopa
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O= 80,000 x6H x12& 5,760
Ol 70,0003 x6H «12& 5,040
202 O4Hl 10,800 10,800 0
02 N 10,800 10,800 0
OF-! 150,000 *6H 123 10,800
203 R4l 9,840 0 9,840
01 JI22F L= 6,600 0 6,600
OJI22IHRF4| 550,000 «12& 6,600
02 HANMMHRF=EHI 240 0 240
OZFAINMHRFLHI 40,000 x64H 240
04 RN2ILRF=LH 3,000 0 3,000
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01 Mg HEAH| 1,800 0 1,800
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O & 04
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QIXXIHE 29 252,182 193,742 58,440
H =43t 116, 150 87,810 28,340
dH 29 71,780 45,540 26,240
g2 A H 17,800 17,800 0
222yl 13,800 13,800 0
OFUXXIHE 298| 400,000& x12& 4,800
OF0IXXRALKS 3|9 HA4E
30,000 x25H x12& 9,000
HAF2 S HI 4,000 4,000 0
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OFQUXNXHE Ast L WE 2,000,000& 2,000
HR=ZH| 600 600 0
ABE=XHRFEAH| 600 600 0
OANBEAIFER 600, 000& 600
g A= 36,380 27,140 9,240
10 HAIAHIEAZ 36,380 27,140 9,240
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AH&EFE S 17,000 0 17,000
AArY 2 2 F SH| 10,000 0 10,000
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02 AT 7,000 0 7,000
O&2TH2A2E THFY 7,000,000& 7,000
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201 et d| 10,800 10,200 600
01 At Zelbl 8,400 8,400 0
ORIFHHADREZT £2H|  700,0008 *122 8,400
02 ss2494l 2,400 1,800 600
oRERZ 150,000 »12& 1,800
OQCIUBSANHOHIE &S 600,000& *13] 600
s, 60t& g=s13 30,770 30,870 A 100
301 et A= 30,770 30,870 A 100
05 S-2l-etEsas2Ma83 30,770 30,870 A 100
Os&=Y 200,000& x9H x143| 25,200
OEH39 HALE 20,0002 * 9 x23| x 12& 4,320




SN

=R AEH 29
©o: ZOINIXIME a8 (oo & el
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
Oeraagf 25,0002 *25% %23 1,250
WRBB22UST] 2,800 1,200 1,600
301 LptBAZ 2,800 1,200 1,600
10 BAAHIZAS 2,800 1,200 1,600
ONRSBSZLBESD| HEA HOHK SAH|
7,0008 %202 523] « 102 2,800
= MY 116,082 75,932 40,100
YA S 63,032 44,932 18,100
201 LerE | 50,032 37,332 12,700
01 At el 8,000 0 8,000
OANZTS 2 AIFEHOH Bl 8,000,00024 8,000
02 ZZ2H| 42,032 37,332 4,700
OFJIZ 900,000 * 128 10,800
OYst+ERE 50,0002 128 600
OP[ES-] 900,0008! * 128 10,800
OJIEIBZR2 L HMA 500,0002 500
OXgL s 800, 000! *2CH 1,600
OV PNEEIES =] 300,0008! * 128 3,600
OR0IZH 898 176,0002! » 128 2,112
OFIIHH B2 He+42 60,0002 122 720
OsIIRNZE +4+8 200,0009! %128 2,400
OLYHNEE 448 100,000 12 1,200
Ot Xl 300, 0008 * 12 *2LH 7,200
OFM KX 22| 500,0002 500
405 THaHE S| 13,000 7,600 5,400
01 HAYLSEHSH| 13,000 7,600 5,400
OZEX(AR) 13,000,000 *1CH 13,000
AR OH 53,000 31,000 22,000
401 Al HIL 2O 53,000 31,000 22,000
01 A& 53,000 31,000 22,000
OZBIRAME ZOHQIBEOIAE SXBA
8,000,000 8,000
OXSZAZ HXBA 15,000, 0002 15,000
ONEHH L ASHSZE NI
10,000,000 10,000
OXGIH4+E RNES ZA 10,000, 0002 10,000
OFUNXNMHEIZIY FIIHIS 22ED &
XIS A 10,000,000 10,000
FOIEAY 20,000 30,000 10,000
ZoIZEAE H| 20,000 30,000 10,000




SN AES
& AlEES FUANXNE 2
et oIS (el a2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
401 A &HIL 2048 20,000 30,000 210,000
01 Al&H| 20,000 30,000 A 10,000
OF0I= Al 20,000, 000& 20,000
HY2HHHI(ANES) 58,308 58,809 A501
el | 25,068 36,489 211,421
el A 25,068 36,489 A11,421
101 el 25,068 24,849 219
03 RIAHAZZNHE = 25,068 24,849 219
OO0l 2el & 25,068
= 836,680& x1H +12& 10,041
=¥ 836,680 *400% 3,347
— JHAIXI & Y| 836, 6803 *200% 1,674
—HE SOl 836,680 *150% 1,256
— WSS 2| 140,000& «12& 1,680
— M S A 80,000& »12& 960
— MG 30,000& x12& 360
— =22 4,470 1. 5%15A| 2+ 123 1,207
—FYU2R2Y 44703 %1.5%8A| 2tx22 x12E 1,288
PR = 4,4703 xBA| 2t%18L 644
=
3,443 3 *8Al 2Hx65%+ (9«3 +10EH «9F ) 2,095
—MHEE = 24,552,000& *21/1,000 516
Jl23| 33,240 22,320 10,920
Jle=3| 33,240 22,320 10,920
201 et 10,800 11,520 AT20
01 AFR 22l 10,800 11,520 AT20
OfMZEHI 80,0003 x6E «12& 5,760
OF=3=i:] 70,0003 x6E «12& 5,040
202 (4 HI 10,800 10,800 0
02 XN 10,800 10,800 0
OF M 150,000 «6H «12& 10,800
203 HRF&H| 9,840 0 9,840
01 JI22IHRF&H| 6,600 0 6,600
OJ22Z YR =4I 550,000& = 12& 6,600
02 HANMPRF=EHI 240 0 240
OZFAINAHRFAHI 40,000 x6H 240
04 FN2ILRFAHI 3,000 0 3,000
ORNMZEHE=AI 250,000& «12& 3,000
204 X R=HAH 1,800 0 1,800
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